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lahr K4 L oUT IN GROSS HDCP = NET  crosshi S G BnFE K4 2L OUT IN  GROSS HDCP = NET | cRossufr e

1 MES LR 37 37 74 3.6 70.4 1L 51 [liA 52 39 47 86 12 74 15
2 5B 58 39 40 79 8.4 70.6 4 FMGF2T—% (200 g X 3) 52 =FH K 47 45 92 18 74 45
3 frly EH— 48 48 96 25.2 70.8 89 NRF )b —H — 53 FA e 45 47 92 18 74 45
4 thHE FnE 37 40 77 6 71 2EHELS S LS E Y B 54 A [ #&FH 47 45 92 18 74 45
5 A INEZ 48 46 94 22.8 71.2 687 RIT/NLF¥T 4Ry 55 Al &Mk 50 48 98 24 74 112 EML B LSS LS
6)Il0 &— 51 55, 106 34.8 71.2 213 M43 XHEx A (600 g) 56 KR Ft 51 47 98 24 74 112
7 BEH R 42 39 81 9.6 71.4 7 ZE SR 57 A1 {&— 42 43 85 10.8 74.2 11
8 il =& 49 50 99 27.6 71.4 130 EJNAF9 =HEXH(600g) 58 EH I 41 50 91 16.8 74.2 37
9 E¥ B 47 45 92 20.4 71.6 45 T L& b 59 A T A8t 47 50 97 22.8 74.2 99
10 RS EfE 49 49 98 26.4 71.6 112 pvr~wvH—T% 60 /MK 2 48 55, 103 28.8 74.2 183 D1 (1&¥—R)
11 FERN T — 40 45 85 13.2 71.8 11 61 M FER 52 51 103 28.8 74.2 183
12 R A 44 53 97/ 25.2 71.8 99 62 PR JIE— 48 55/ 103 28.8 74.2 183
13 /A 287 45 52 97 25.2 71.8 99 63 KA Hhll 45 45 90 15.6 74.4 29
14 )10 kst 47 50 97 25.2 71.8 99 64 FEE S 45 45 90 15.6 74.4 29
15 PE{RTN R 40 38 78 6 72 3ZEHO T IN—YESY 65 )10 FiEz 42 48 90 15.6 74.4 20 FnokE (F=v v 2/%)
16 AR JpREE 44 58 102 30 72 169 66 M AEF 47 55, 102 27.6 74.4 169
17 dbsa HE— 42 47 89 16.8 72.2 22 67 A 51 510 102 27.6 74.4 169
18 ffHH ¥ 44 45 89 16.8 72.2 22 68 PN Hi— 44 45 89 14.4 74.6 22
19 58 AZ 46 55, 101 28.8 72.2 154 69 s 39 50 89 14.4 74.6 22
20| ke A 46 48 94 21.6 72.4 68 H FHBE X Sa 70 B (Ll PL s 47 48 95 20.4 74.6 4% ) —F7 kv b
21 e HET 55 51/ 106 33.6 72.4 213 71 KB 15 47 48 95 20.4 74.6 74
2T EE 44 49 93 20.4 72.6 59 72KTF HH 48 47 95 20.4 74.6 74
23 B FER 46 47 93 20.4 72.6 59 73 AR (R 53 48 101 26.4 74.6 154
24 L = 48 51 99 26.4 72.6 130 74 FEE % 47 54, 101 26.4 74.6 154
25 T3 &% 38 42 80 7.2 72.8 6 Z-STERXV (14— &) 75 ARz 51 500 101 26.4 74.6 154 %> RU—F7 hEw b
26 B FELF 45 41 86 13.2 72.8 15 76 L thiE 47 54/ 101 26.4 74.6 154
27 /Nl SEg 39 40 79 6 73 4 T EH & 51 50 101 26.4 74.6 154
28 HiiFH A 37 48 85 12 73 11 78 FIL Fnik 48 53/ 101 26.4 74.6 154
29 Hil ¥ 41 44 85 12 73 11 79 TN BE 56 51 107 32.4 74.6 226
30 2% k5 48 43 91 18 73 3T BLRDEEI0F 1 80 {F7 BT 44 44 88 13.2 74.8 20 BLADEESR 1
31 #e1f fEs 42 49 91 18 73 37 81 HA # 51 49 100 25.2 74.8 145
32 K& iR 42 49 91 18 73 37 82 WM FH 52 48 100 25.2 74.8 145
33 MHIE —Ri 48 49 97 24 73 99 83 HHy Fz 53 53 106 31.2 74.8 213
34 K Ht 45 45 90 16.8 73.2 29 84 II'F HE— 51 48 99 24 75/ 130
35 UTHE & 47 55, 102/ 28.8 73.2 169 FMNHEBKEL o5 L o5 85 S &— 45 54 99 24 75 130 F A R —madR—L
36 & FHE 49 53/ 102 28.8 73.2 169 86 AKAh A 49 56 105 30 75 202
373F @ 50 58 108 34.8 73.2 233 87 HJI Bk 43 43 86 10.8 75.2 15
38 /NI jEH 42 41 83 9.6 73.4 9 88 B4 s 48 44 92 16.8 75.2 45
39 “iHm 757] 41 42 83 9.6 73.4 9 89 #AH LA 46 46 92 16.8 75.2 45
40 ‘= H 5L 44 45 89 15.6 73.4 22 ) —FT7 by b 90 JEAK HE 42 50 92 16.8 75.2 45 FES DI CREFFEA )
41 S2H BUKR 47 48 95 21.6 73.4 74 91 i M5 45 47 92 16.8 75.2 45
42 )1K BEIA 52 49 101 27.6 73.4 154 92 I 7= 45 53 98 22.8 75.2 112
43 xR B 60 47 107 33.6 73.4 226 93 A0 FEAT 44 54 98 22.8 75.2 112
44 M4 B 41 41 82 8.4 73.6 8 94 F[Eh HEE 52 52 104 28.8 75.2 191
45 F7E BT 43 45 88 14.4 73.6 20 F)—F7 bk b 95 A H ER 48 56, 104 28.8 75.2 191 ¥ ¥ TV X —~~v RH,N—
46 K 590 50 50, 100 26.4 73.6 145 96 FH FK 47 44 91 15.6 75.4 37
47 | FEER 54 46, 100 26.4 73.6 145 97 M= & 46 45 91 15.6 75.4 37
48 HE LHE 46 47 93 19.2 73.8 59 98 Al =Rk 45 46 91 15.6 75.4 37
49 It 49 50 99 25.2 73.8 130 99 %A ik 47 50 97 21.6 75.4 99
50 St FEE 50 55, 105 31.2 73.8 202 B LXDEL5X T 100 [ fH— 54 49 103 27.6 75.4 183 YL KU —FT7 hEv K
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WAL ZInE R4 2L OUT ~ IN GROSS HDCP = NET | crossiis {5 WEhr  ZInE R4 2L OUT = IN GROSS HDCP NET cross 15

101 BifH #h 54 49 103] 27.6 75.4 183 151 3f Skt 44 51 95 18 77 74
102 FFBE fek 57 52 109 33.6 75.4 238 152 [ #s 48 47 95 18 77 74
103 H-F#&% M 48 48 96 20.4 75.6 89 153 A= 24 49 52 101 24 77 154
104 #&HH ez 47 49 96 20.4 75.6 89 154 (LR F2BH 45 56 101 24 77 154
105 Bul @9 49 53 102 26.4 75.6 169 155 ik TE % 44 50 94 16.8 77.2 68
106 LA R 50 52/ 102 26.4 75.6 169 156 &K Fnd 53 53 106 28.8 77.2 213
107 SEfd a3k 56 52/ 108 32.4 75.6 233 157 gAY HE 47 59 106 28.8 77.2 213
108 Y M st 43 46 89 13.2 75.8 22 158 1 E 52 54/ 106 28.8 77.2 213
109 (8 BT 48 41 89 13.2 75.8 22 159 #rH Bk 59 53 112 34.8 77.2 259
110 e x K Faz 48 47 95 19.2 75.8 MUY ) —F7 hEy b 160 PEH FEK 45 48 93 15.6 77.4 59 M) —F7 bk b
111 R BEds 43 52 95 19.2 75.8 74 161 =W 57 41 52 93 15.6 77.4 59
112 K HE 43 52 95 19.2 75.8 74 162 M &i& 51 48 99 21.6 77.4 130
113 R E2 57 44 101 25.2 75.8 154 163 #2H itk 53 46 99 21.6 77.4 130
114 ik 5 51 50 101 25.2 75.8 154 164 S G 49 50 99 21.6 77.4 130
115 R #i1 52 55, 107 31.2 75.8 226 165 HEH 5 F0 44 55 99 21.6 77.4 130
116 =—HA FIE 43 51 94 18 76 68 166 [LIMgF 1T/ 42 57 99 21.6 77.4 130
117 Kai A= 49 51 100 24 76 145 167 %A FEth 46 59 105 27.6 77.4 202
118 SE i iE— 48 52 100 24 76 145 168 Y)¥k s 47 45 92 14.4 77.6 45
119 HH 50 50 100 24 76 145 169 =G S8IE 46 52 98 20.4 77.6 112
120 55 A& 53 53 106 30 76 213 FHARDOIECKEFHEE) 170 1 51 47 98 20.4 77.6 112 797 ¥ —pabivay
121 %5+ 5% 52 60 112 36 76 259 171 v  B 49 49 98 20.4 77.6 112
122 Faf ek 45 42 87 10.8 76.2 19 172 s34 B 46 58 104 26.4 77.6 191
123 Hhit HEE 47 46 93 16.8 76.2 59 173 (g — —2F 51 53, 104 26.4 77.6 191
124 ikt (& 47 46 93 16.8 76.2 59 174 1B F|ik 49 61 110 32.4 77.6 244
125 VEH HEsL 44 49 93 16.8 76.2 59 175 HF# #ER 51 59, 110 32.4 77.6 244
126 K& E7 49 50 99 22.8 76.2 130 176 510 P77 43 54 97 19.2 77.8 99
127 KL 5L3@ 46 53 99 22.8 76.2 130 177 VEIN R 51 46 97 19.2 77.8 99
128 $&47 Mo 46 53 99 22.8 76.2 130 178 ¥EH 5k 50 47 97 19.2 77.8 99
129 A (EfE 51 48 99 22.8 76.2 130 179 S #— 52 51 103 25.2 77.8 183
130 )@ B+ 46 53 99 22.8 76.2 130 T:MH1T— R Bkt M| 180 F2 BEEC 51 52/ 103| 25.2 77.8 183 FANDHE CKEAEESH)
131 AAK Z&+] 57 48 105 28.8 76.2 202 181 HAR ® = 58 51 109 31.2 77.8 238
132 FaA BLE5L 43 43 8 9.6 76.4 15 182 =K FHE 50 46 96 18 78 89
133 FHIE % 43 49 92 15.6 76.4 45 183 FRZH g 55 47 102 24 78 169
134 fBA JE— 46 46 92 15.6 76.4 45 184 HH FEE 49 53 102 24 78 169
135 4+ Bk 45 47 92 15.6 76.4 45 185 I #E= 49 53 102 24 78 169
136 A wHI 44 48 92 15.6 76.4 45 186 fEJR FEC 56 52 108 30 78 233
137 [UA A 47 45 92 15.6 76.4 45 187 HH ¥ 55 53 108 30 78 233
138 IR E % 51 47 98 21.6 76.4 112 188 AR =£ET7] 55 59, 114 36 78 273
139 [fA S 46 52 98 21.6 76.4 112 189 44 [E A 47 48 95 16.8 78.2 74
140 [EAF Fnsk 58 52/ 110/ 33.6 76.4 244 7p-V7 4 —pavivay 190 [#A Fk 48 47 95 16.8 78.2 4% P —F7 by b
141 kKA W= 49 48 97 20.4 76.6 99 191 PUA Kiif 49 46 95 16.8 78.2 74
142 SF 0 ME 46 51 97 20.4 76.6 99 192 KE #E— 52 49 101 22.8 78.2 154
143 [ AuE B 53 56, 109 32.4 76.6 238 193 JIIH P 48 53 101 22.8 78.2 154
144 FH 7 44 46 90 13.2 76.8 29 194 AR BT 50 57 107 28.8 78.2 226
145 K SCHE 44 46 90 13.2 76.8 29 195 mif)I fHs 51 56, 107 28.8 78.2 226
146 EA HiE 42 48 90 13.2 76.8 29 196 AR AR 52 55, 107 28.8 78.2 226
147 38 & 47 49 96 19.2 76.8 89 197 &% 1= 59 54 113 34.8 78.2 266
148 #Hr A& FnbA 50 46 96 19.2 76.8 89 198 HEYR IER 48 46 94 15.6 78.4 68
149 J&EH #HEA 49 47 9 19.2 76.8 89 199 AW FLET 40 54 94 15.6 78.4 68
150 RES 5k 54 48 102 25.2 76.8 169 % hU—XT7 hEwv kb 200 i IFE— 51 49 100 21.6 78.4 145 Y% K —FT7 hEv b
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WAL ZInE R4 2L OUT ~ IN GROSS HDCP = NET | crossiis {5 WEhr  ZInE R4 2L OUT = IN GROSS HDCP  NET cross 15
201 9 IEAD 50 56 106 27.6 78.4 213 251 15 #A1R 54 58 1120 31.2 80.8 259
202 Yl 721E 47 46 93 14.4 78.6 59 252 g% R 54 58, 112/ 31.2 80.8 259
203 FEH @ 52 53 105 26.4 78.6 202 253 HH t£iF 53 58 111 30 81 256
204 fRH 51 54 105 26.4 78.6 202 254 | LB =2 56 61 117 36 81 284
205 TEAR K 61 50 111 32.4 78.6 256 255 HJI T IS 49 49 98 16.8 81.2 112
206 &M E 51 47 98 19.2 78.8 112 256 PE L —#t 50 54 104 22.8 81.2 191
207 AR A 48 50 98 19.2 78.8 112 257 fhkt 2 47 57 104 22.8 81.2 191
208 i & 49 49 98 19.2 78.8 112 258 N7 AE IER 59 55| 114 32.4 81.6 273
209 ZEH & 52 52 104 25.2 78.8 191 259 [A F]E1- 52 62 114 32.4 81.6 273
210 FEAT FE—HR 45 59/ 104 25.2 78.8 19175 # —pavivay 260 3 ptaL 52 62 114 32.4 81.6 273 2 M4Hi5— A LBt v |k
211 /i PSR 55 55 110 31.2 78.8 244 261 B FE 55 58/ 113 31.2 81.8 266
212 B EfE 55 55| 110 31.2 78.8 244 262 5 M 5LM 56 57/ 113 31.2 81.8 266
213 IR ik 56 54 110 31.2 78.8 244 263 B HiE 55 51 106 24 82 213
214 ¥ATH R 45 46 91 12 79 37 264 [ A Gk 52 60 112 30 82 259
215 H_E % 55 48 103 24 79 183 265 /= H HRER 62 56 118 36 82 287
216 JRl @I 53 56 109 30 79 238 266 1 FHA 49 56/ 105 22.8 82.2 202
217 1Rk FEA 56 53 109 30 79 238 267 |LIH #i1 48 57 105 22.8 82.2 202
218 FFMH IE— 55 54 109 30 79 238 268 13 P 43 55 98 15.6 82.4 112
219 M FZ2 40 50 90 10.8 79.2 29 269 ZRE AT 50 60 110 27.6 82.4 244
220 [l 752 53 43 96 16.8 79.2 89 FHANDHECKETFEET) 270 [l A BET 53 57/ 110 27.6 82.4 244 XA 7 R R—F
221 i ZRHE 50 52 102 22.8 79.2 169 271 H A 47 49 96 13.2 82.8 89
222 k¥ B= 48 54 1020 22.8 79.2 169 272 K& &) 59 49, 108 25.2 82.8 233
223 fHIT B 49 53/ 102 22.8 79.2 169 273 fRIE M 60 59 119 36 83 290
224 NIL FEEZ 57 57/ 114 34.8 79.2 273 274 JFH # 60 59 119 36 83 290
225 [ H &5 46 49 95 15.6 79.4 74 275 BiiH EZT 56 50 106 22.8 83.2 213
226 KE 1dsE 42 53 95 15.6 79.4 74 276 Pk FA 56 50, 106 22.8 83.2 213
227 =i —% 48 47 95 15.6 79.4 74 277 LA S 46 66 112 28.8 83.2 259
228 Zx IEHE 51 50 101 21.6 79.4 154 278 FGL EE 55 63 118 34.8 83.2 287
229 AR /R T 55 52 107 27.6 79.4 226 279 F{H HE 47 58/ 105 21.6 83.4 202
230 HH AZET 57 56, 113 33.6 79.4 266 74&Z7VU—r7+—2kv M| 280 =E FnF 60 57 117 33.6 83.4 284 )7 T R ¥
231 B B 51 62 113 33.6 79.4 266 281 HIJE == fi 57 53, 110 26.4 83.6 244
232 JTHE 48[ 50 55| 105 25.2 79.8 202 282/ /KA BLIE 57 57 114 30 84 273
233 KH ¥ E 54 51/ 105 25.2 79.8 202 283 PE{AT N EAR T 54 60 114 30 84 273
234 R ER 54 57/ 111 31.2 79.8 256 284 V&K Fh 62 58 120 36 84 295
235 7)1 = 47 51 98 18 80 112 285 FLH P& 57 63 120 36 84 295
236 % W& 47 51 98 18 80 112 286 7RIl =45 51 62 113 28.8 84.2 266
237 fHEy H— 48 50 98 18 80 112 287 H K 52 61 113 28.8 84.2 266
238 & Ff 50 54 104 24 80 191 288 HkT fEFA 55 64 119 34.8 84.2 290
239 Y H 5L+ 50 54 104 24 80 191 289 £ EH 52 67 119 34.8 84.2 290
240 HH FH& 44 60 104 24 80, 191 %> FU—FT7 kv b 290 i B 59 59| 118 33.6 84.4 287 AU IV F 4 AH LA
241 HK E15 51 59 110 30 80 244 291 7 K+ 60 57 117 32.4 84.6 284
242 K i 50 60 110 30 80 244 292 \TAE & 54 61 115 30 85 280
243 AL [l 58 58 116 36 80 281 293 BEFT BE 58 63 121 36 85 297
244 W) 4 F] 64 52 116 36 80 281 294 A 183 64 57 121 36 85 297
245 PAkT #hiE 45 52 97 16.8 80.2 99 205 B H — 59 62 121 36 85 297
246 F BB 46 51 97 16.8 80.2 99 296 AijH ELH] 58 61 119 33.6 85.4 290
247 piEl & 47 49 96 15.6 80.4 89 297 Al BEAr 56 54 110 24 86 244
248 K B 49 51/ 100 19.2 80.8 145 298 BEH fHTK 49 67 116 30 86 281
249 HYH EHA 56 50 106 25.2 80.8 213 299 JEMF 1E 61 60 121 34.8 86.2 297
250 /PN ZREE 45 61 106 25.2 80.8 213% L hU—XT7 ¥k 300 HH T 54 58 112 24 88 259 TMH1T — A LBk E v b
— ¥ 1 —
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Wafr  ZnE KA 2L OUT ~ IN GROSS HDCP = NET | cuossm {4 IEfr  ZnE A Z9 OUT = IN GROSS HDCP = NET crossi (GRS
301 /NTF HE(R 62 62 124 36 88 301
302 KH %8 61 63 124 36 88 301
303 HH s FEAR 62 63 125 36 89 303
304 P A FE 65 62 127 36 91 306
305 EA suiR 60 66 126 34.8 91.2 304
306 ZHE iR 59 69 128 36 92 307
307 ¥EH FH— 63 66 129 36 93 309
308/ (L0 &1 58 700 128 34.8 93.2 307
309 A& 1E 64 66 130 36 94 310
310 LA T4 64 67 131 36 95 311 HANDOHECKELEAEY)
311 VTP =Ai 59 67 126 30 96 304
312 A #E 64 69 133 36 97 312
313 % i 64 71 135 36 99 313
314 AHH 1 66 69 135 36 99 313 TWHT—RA BT Y b
315 i T3 75 93 168 36 132 315 70=Y7 ¥ —pavivay
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